Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 194, 1220-Vienna, Austria

Complete Spare Parts List of

ROBE ROBIN Actor 6

13051616
19040093
13050686
19530223
11013940
19010352
19010353
19010325-03
14060283-02
11013943
11013944
11013563-01
19520085
19020085
12050571-01
16030036
16030038
13051663
13050103
17030627
11030552
11030553
13051751
17050385
17050386
11013541-02
11013539-05
11013941
12050672
12050610
14060288-03
14060288-02
14060289-02
99013095
99013094
11013629
99010420
18040005
18040001
12050671
19020029
18040020
18540020

Antenna 1 dBi, MCX 260mm
Antivibration gripping of fan

Connector NEUTRIK NAC3MPA-1

Cooler MC

Cover die hole of security cable

Cover of arm (plastic) - locking of head
Cover of arm (plastic) - power

Cover of head (plastic)

Cover plexiglass

Covering of DMX
Covering of heavy-current

Covering of plexiglass

EggCrate Robin 600 LEDWash (black)
EggCrate Robin 600 LEDWash (transparent)
Extension of steppermotor 600

Fan KD1206 PTBX 60x60x25 12V

Fan KD1209 PTBX 92x92x25 12V

Foil insulating

Fuse socket - FGP1

Gasket 31010-0 PE 15x10
Grounding of arm - display

Grounding of arm - power supply

Holder - plastic FTH-28RS-01

Holder of head (stopper) with nuts
Holder of head with nuts

Holder of LED lens FCM-35A-0R RBX 35mm MC
Holder of LED lens FXLL-35A-A 35mm MC-
Holder of power supply

Insert

Interposer bar

LED lens FCM-35A-0R RBX 35mm MC

LED lens FCM-35ASG-0OR RBX 35mm MC
LED lens FXLL-35AHT-A 35mm MC-

LED module - lens FCM-35A-0R RBX 35mm MC
LED module - lens FXLL-35A-A 35mm MC-
Locking (sheet metal)

Mounting bracket Omega CL assembled
Nut M3 black

Nut M4 black

Nut of pivot

Nut ROBE M8

Nut selflock M4 silver

Nut selflock M4 silver



17030628
13030782
13030239
13031175
13031176
13031112-01
13031199
13031200
13031201
13031202
12050713
13020050
11013947
11013948
99013638
17030029
19040157
18010117
18010033
18010032
18010118
18010040
18010119
18010035
18010054
18010016
18510016
18010008
18010037
18010060
18010207
18010007
18020009
18020006
18010189
12010210
12050645
17030674
13051408
16010036-01
17040822
17050384
12050609
13050113
13050171
13051310
13051819

O ring 29x178

PCB Con2E

PCB Connectors EZ1073

PCB RB2511 Robin Actor 6 L

PCB RB2820 Robin Actor 6 M

PCB RB8051 37 OSTAR

PCB RB8051-A 7 Ostar

PCB RB8051-B 12 Ostar

PCB RB8051-C J3 9 Ostar

PCB RB8051-C J4 9 Ostar

Pivot of locking M8

Power supply 48V/400W, 90-264V
Pressure washer

Pressure washer - stopper

Rest of bracket - assembled

Rubber bushing 20x3

Rubber washer

Screw crosswise cup countersink M3x12
Screw crosswise cup countersink M3x6
Screw crosswise cup countersink M3x8
Screw crosswise cup countersink M4x10
Screw crosswise cup countersink M4x25
Screw crosswise cup countersink M4x30
Screw crosswise cup countersink M4x8
Screw crosswise cup headed M3x10
Screw crosswise cup headed M3x6
Screw crosswise cup headed M3x6
Screw crosswise cup headed M3x8
Screw crosswise cup headed M4x10
Screw crosswise cup headed M4x12
Screw crosswise cup headed M4x6
Screw f. adjusting hexagon socket M4x5
Screw self-tapping 29x65

Screw self-tapping countersink 29x95
Screw socket head cap M3x16

Spacer D6xL145 M3

Spacer hexagon

Spacer MDLSP-1-120-01 PA-UL94V-0 plastic
Spade terminal 48

Steppermotor LINEAR ACTUATOR 300/600/800
Stiffener of arm with nuts

Supporting part - assembled

Teflon housing

Terminal end 7600-02/04

Terminal end 7610-03/04

Toroid ferrite CSA15/7.5/29-452-EN
Tube - PVC 10x1 L155



11014040
99013521
18050009
18050011
18050064
18050002
18050003
18050010
13171214
13171213

Underlay of locking of head

Underlay of locking of head with pin

Washer M3 selflock - black

Washer M3 star - black

Washer M3 star - countersink

Washer M4 black

Washer M4 selflock - black

Washer M4 star - black

Wires set f. Robin Actor 6 230/120V Power
Wires set f. Robin Actor 6 without Power-wires

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 194, 1220-Vienna, Austria



